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@ 180° — 6D=FL @
sin(180° — @) = sin @
cos(180° — ) = —cos 0
tan(180° — @) = —tan@

0°< 0 <90° TR CWIMEIE, 0°<0<180° DE XY, TDOEERY IO,
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tanO:sm , sin20—|—cos20=1, 1+tan20=

cos 0
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(1], [2]oX%HE T, [B]PRPMY ST & ZBBIE L, (s8p® p.130)

1 0°< 6 < 180° &F %, (s#hfEp129~130 fIRi4, 5)
(1) cosf = —% D& X, sinf, tanf DIEEZRD X,

(2) tanf =3 D& X, sinf, cosh DEZRKD X,



(EED2 sino = % LRBOIE, 0MTEDYE X/, L, 0°< 0 < 180° &

Do (H%FEp.131 (I 6)

CGEA3 tant = V3 L4500, 0MAEDOL X0, 72721, 0°< 0 < 180° &

Do (BFE 132 (IET)
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